Math 2300: Calculus Spring 2019

Lecture 16: Tuesday February 5

Lecturer: Sarah Arpin

WebAssign due tonight

16.1 Volumes of Solids by Cross Sections

(First, do the worksheet on solids with known cross sections).

16.1.1 Example 1:

Find the volume obtained by rotating the region bounded by y = 7 — 2%,z = —2,z = 2, and the z-axis
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16.1.2 Example 2

6y + 10 and = = 5 around the y-axis.
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Find the volume obtained by rotating the region bounded by z = 2 —
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16-2 Lecture 16: Tuesday February 5

16.1.3 Example 3: ,é';)/x

Find the volume obtained by rotating the region bounded by y = 222 ayd y = z° around the z-axis.
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16.1.4 Example 4:

Find the volume obtained by rotating the region bounded by y = 10 — 6z + 2%,y = —10+ 6z — %,z = 1
—~—

and z = 5 around the line y = 8. ( B ~
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